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ARITHMETIC PROGRESSIONS

Others

1. Find the middle term of the A.P. 213, 205, 197, ..., 37.

Watch Video Solution

2. If in an A.P. the sum of  terms is equal to  and the sum of  terms is

equal to  then prove that the sum of  terms is 

Watch Video Solution

m n n

m (m + n) −(m + n)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zd6ApGpxAAQX
https://dl.doubtnut.com/l/_qCyyyYOqO10e
https://dl.doubtnut.com/l/_CLi6qivGEK9T


3. If the 
term of an A.P. is 
and the 
terms is 
show that the

sum of 
terms is 

Watch Video Solution

mth 1

n
nth ,

1

m

mn (mn + 1).
1

2

4. Find the 0 where the AP is 40,37,...

Watch Video Solution

5. Find whether 0 (zero) is a term of the AP 40, 37, 34, 31, ...

Watch Video Solution

6. If 
are in A.P. Then, 

A. 5

B. 3

, ,
1

x + 2

1

x + 3

1

x + 5
x =

https://dl.doubtnut.com/l/_CLi6qivGEK9T
https://dl.doubtnut.com/l/_2e69LBDRGSzL
https://dl.doubtnut.com/l/_g4IWnBsanesL
https://dl.doubtnut.com/l/_c8wfzjZTlfSV


C. 2

D. 1

Answer: D

Watch Video Solution

7. Find the number of natural numbers between 101 and 999 which are

divisible by both 2 and 5.

A. 99

B. 89

C. 109

D. 119

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_c8wfzjZTlfSV
https://dl.doubtnut.com/l/_QPmkjyAQDNLZ
https://dl.doubtnut.com/l/_Q68lkrgQ7KnV


8. The sum of first 6 terms of an arithmetic progression is 42. The ratio of

its 10th term to its 30th term is . Calculate the first and 13th term of

an AP.

Watch Video Solution

1: 3

9. Find the sum of first 20 terms of an A.P., in which 3rd term
is 7 and 7th

term is two more than thrice of its 3rd
term.

Watch Video Solution

10. The sum of 5th and 9th terms of AP is 30. If its
25th term is three times

it 8th term, find the AP.

Watch Video Solution

11. The sum of three numbers in A.P. is 12 and the sum of their cubes is

288. Find the numbers.

https://dl.doubtnut.com/l/_Q68lkrgQ7KnV
https://dl.doubtnut.com/l/_LarY7BIxZhRa
https://dl.doubtnut.com/l/_uYgf2fkvHuT0
https://dl.doubtnut.com/l/_fOaTBIdfHgrx


Watch Video Solution

12. In an A.P., the sum of first 
terms is 
Find its 25th term.

Watch Video Solution

n + .
3n2

2

5n

2

13. If 
the sum of first 
 terms of an A.P., is given by 

then find its 
term.

Watch Video Solution

Sn, n Sn = 5n2 + 3n,

nth

14. Find the sum of all natural numbers between 250 and 1000 which are

exactly divisible by 3.

Watch Video Solution

https://dl.doubtnut.com/l/_fOaTBIdfHgrx
https://dl.doubtnut.com/l/_VPHdR60ofiwc
https://dl.doubtnut.com/l/_kz2YRIvpmQrf
https://dl.doubtnut.com/l/_6iEOY5u6Dsqr


15. The sum of the first 
terms of an A.P. are 
respectively. Show

that 

Watch Video Solution

p, q, r a, b, c

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

16. If 
 times the 
 term of an A.P. is equal to 
 times its 
 term,

show that the 
term of the A.P. is zero.

Watch Video Solution

m mth n nth

(m + n)
th

17. If the 
 term of an A.P. is 
 and the 
 term is 
 prove that its 

Watch Video Solution

pth q qth p,

nthtermis(p + q − n).

18. If mth term of an AP is 1/n and its nth term is 1/m , then show that its

(mn)th term is 1

https://dl.doubtnut.com/l/_2EJxRnSVqokM
https://dl.doubtnut.com/l/_GGNcnHJqL8o8
https://dl.doubtnut.com/l/_8tM2p6rWyoNa
https://dl.doubtnut.com/l/_RhKgOCNYnFQx


Watch Video Solution

19. For the following arithmetic progressions write the first term and

common difference 
(ii) 

Watch Video Solution

, , , ,
1

3

5

3

9

3

13

3
0. 6, 1. 7, 2. 8, 3. 9, ..

20. Is 184 a term of the sequence 3,7,11, ... ?

Watch Video Solution

21. If the 10th term of an A.Pis 52 and 17th term is
20 more than the 13th

term, find the A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_RhKgOCNYnFQx
https://dl.doubtnut.com/l/_1kVOrdzBCKxa
https://dl.doubtnut.com/l/_ieEfLEgqDlCD
https://dl.doubtnut.com/l/_5Uzru6SYiBcc


22. If the 8th term of an A.P. is 31 and the 15th
 term is 16 more than the

11th term, find the A.P.

A. 15, 19, 23, 27......

B. 3 , 7 , 11 , 15 .......

C. 7 , 11 , 15,19 .......

D. 11 , 15, 19, 23 .......

Answer: B

Watch Video Solution

23. Write the first five terms of each of the following sequences whose 

th terms are:
 
 (ii) 
 
 (iv) 


 (vi) 
 (vii) 
 (viii) 


(ix)

Watch Video Solution

n

an = 3n + 2 an =
n − 2

3
an = 3n an =

3n − 2

5

an = ( − 1)n.2n an =
n(n − 2)

2
an = n2 − n + 1

an = 2n2 − 3n + 1 an =
2n − 3

6

https://dl.doubtnut.com/l/_ZG9iJ9A7eY21
https://dl.doubtnut.com/l/_38nhukjuqk7a


24. Let a sequence be defined by 
and 

for all 
Find  for 

Watch Video Solution

a1 = 1, a2 = 1 an = an− 1 + an− 2

n > 2,
an+ 1

an
n = 1, 2, 3, 4.

25. Find the next five terms of each of the following sequences given by:




Watch Video Solution

(1)a1 = 1, an = an− 1 + 2, n ≥ 2

(2)a1 = a2 = 2, an = an− 1 − 3, n > 2

(3)a1 = − 1, an = , n ≥ 2
an− 1

n
(4)a1 = 4, an = 4an− 1 + 3, n > 1

26. Find the indicated terms in each of the following sequences whose

nth
 terms are:
  and 
  and 

 and 


Watch Video Solution

an = 5n − 4; a12 a15 an = ; a7
3n − 2

4n + 5
a8

an = n(n − 1); a5 a8 an = (n − 1)(2 − n)(3 + n); a1, a2, a3

an = ( − 1) ∩ ; a3, a5, a8

https://dl.doubtnut.com/l/_zVZEHKOSrFzd
https://dl.doubtnut.com/l/_z8YxUNz8TCQa
https://dl.doubtnut.com/l/_3vP0n9RFHOju


27. Write the first five terms of the sequence defined by

Watch Video Solution

an = ( − 1)n− 1. 2n

28. Which term of the A.P. 3,10,17, ... will be 84 more than its 13th
term?

Watch Video Solution

29. Let sequence by defined by
 
for all 

Watch Video Solution

a1 = 3, an = 3an− 1 + 1 n > 1

30. A sequence is defined by 
 Show that the

first three terms of the sequence are zero and all other
 terms are

positive.

Watch Video Solution

an = n3 − 6n2 + 11n − 6.

https://dl.doubtnut.com/l/_kRu744yFlW7J
https://dl.doubtnut.com/l/_W7AuiZ3moGni
https://dl.doubtnut.com/l/_pAO5rwdOsmmL
https://dl.doubtnut.com/l/_i6cPqQEWaym8


31. Which term of the arithmetic progression 8,14,20,26, ... will be 72
more

than its 41st term?

Watch Video Solution

32. Find the term of the arithmetic progression 9,12,15,18, ... which is 39

more than its 36th term.

Watch Video Solution

33. If the 
term of an A.P. is 
find the sum of first 
terms of

the A.P.

Watch Video Solution

nth (2n + 1), n

https://dl.doubtnut.com/l/_i6cPqQEWaym8
https://dl.doubtnut.com/l/_WaXk1ubSQwCT
https://dl.doubtnut.com/l/_sXQsTKmkD11r
https://dl.doubtnut.com/l/_w20KztSG3Nv0


34. Two A.P’s have the same common difference. The difference between

their
 100th   terms is 
 What is the difference between their

Millionth terms?

Watch Video Solution

111222333.

35. Find the 8th term from the end of the A.P. 7,10,13, ..., 184

Watch Video Solution

36. Find the sum of all three digit natural numbers, which are divisible by

7.

Watch Video Solution

37. If 
is the A.M. between  and 
. Then, find the value of 

Watch Video Solution

an+ 1 + bn+ 1

an + bn
a b n

https://dl.doubtnut.com/l/_agC7mOwzh2bS
https://dl.doubtnut.com/l/_JIMntIViNiAt
https://dl.doubtnut.com/l/_6UXsEbVqma4u
https://dl.doubtnut.com/l/_YAE3I3ROy0Ok


38. Find the number of integers between 50 and 500 which are divisible

by
7.

Watch Video Solution

39. 150 workers were engaged to finish a piece of work in a certain

number
of days. Four workers dropped the second day, four more workers

dropped the
third day and so on. It takes 8 more days to finish the work

now. Find the
number of days in which the work was completed.

Watch Video Solution

40. How many numbers of two digits are divisible by 7?

Watch Video Solution

https://dl.doubtnut.com/l/_YAE3I3ROy0Ok
https://dl.doubtnut.com/l/_R9EQDrlgjq9k
https://dl.doubtnut.com/l/_vVrntkbw32SD
https://dl.doubtnut.com/l/_BDNN6arPamX4


41. Along a road lie an odd number of stones placed at intervals of 10

metres. These stones have to be assembled around the middle stone. A

person can carry only one stone at a time. A man carried the job with one

of the end stones by carrying them in succession. In carrying all the

stones he covered a distance of 3 km. Find the number of stones.

Watch Video Solution

42. Divide 32 into four parts which are in A.P. such that the product of

extremes is to the product of means is 7:15.

Watch Video Solution

43. Find the sum of first 30 terms of an A.P. whose second term is 2 and

seventh term is 22.

Watch Video Solution

https://dl.doubtnut.com/l/_AAeIBzBpXsWf
https://dl.doubtnut.com/l/_dA23uewAe8ht
https://dl.doubtnut.com/l/_1djfjLLNRkEH
https://dl.doubtnut.com/l/_8fe8jHoExnyx


44. Ramkali would need Rs. 1800 for admission fee and books etc., for her

daughter to start going to school from next year. She saved Rs. 50 in the

first month of this year and increased her monthly saving by Rs. 20. After

a
year, how much money will she save? Will she be able to fulfil her dream

of
sending her daughter to school?

Watch Video Solution

45. The first and the last terms of an A.P. are 5 and 45 respectively. If the

sum of all its terms is 400, find its common difference.

Watch Video Solution

46. Two cars start together in the same direction from the same place.

The
first goes with uniform speed of 10 km/h. The second goes at a speed

of 8
 km/h in the first hour and increases the speed by 
 km/h in each

succeeding hour. After how many hours will the second car
overtake the

first car if both cars go non-stop?

1

2

https://dl.doubtnut.com/l/_8fe8jHoExnyx
https://dl.doubtnut.com/l/_slphL6RqT0dZ
https://dl.doubtnut.com/l/_BIjExntXAp0K


Watch Video Solution

47. The sum of the third and the seventh terms of an AP is 6 and their

product is 8. Find the sum of first sixteen terms of the AP.

Watch Video Solution

48. If 
 term of an A.P. is twice the 
 term, prove that 


term is twice the 
term.

Watch Video Solution

(m + 1)th (n + 1)th

(3m + 1)th (m + n + 1)th

49. In a school students thought of planting trees in
 and around the

school to reduce air pollution. It was decided that the number
 of trees,

that each section of each class will plant, will be the same as the
class, in

which they are studying, e.g.,

Watch Video Solution

https://dl.doubtnut.com/l/_BIjExntXAp0K
https://dl.doubtnut.com/l/_1Vp6oSKUAAdh
https://dl.doubtnut.com/l/_LjxVplTUgjyb
https://dl.doubtnut.com/l/_H9O9HeeOGYVb


50. The sum of the first 
 terms of an A.P. are 
 respectively.

Show that 

Watch Video Solution

p, q, r a, b, c

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

51. The ratio of the sum of 
 terms of two A.Ps is 

Find the ratio of their 
terms.

Watch Video Solution

n (7n + 1) : (4n + 27).

mth

52. If there are 
 terms in A.P. , then prove that the ratio of the

sum of odd terms and
the sum of even terms is 

Watch Video Solution

(2n + 1)

(n + 1) : n

53. Raghav buys a shop of Rs. 1,20,000. He pays half of the amount in cash

and agrees to pay the balance in 12 annual instalments of Rs. 5000 each.

https://dl.doubtnut.com/l/_0GTVN7f2bVEh
https://dl.doubtnut.com/l/_fSoWFE7sHgIA
https://dl.doubtnut.com/l/_2oJ0QvMlybX5
https://dl.doubtnut.com/l/_iLCB6Memqu1Z


If
the rate of interest is 12% and the pays with the instalment the interest

due
on the unpaid amount, find the total cost of the shop.

Watch Video Solution

54. Which term of the A.P. 3,15,27, 39, ... will be 120 more than its 21st
term?

Watch Video Solution

55. The 17th term of an A.P. is 5 more than twice its 8th
 term. If the 11th

term of the A.P. is 43, find the 
term.

Watch Video Solution

nth

56. The sum of three numbers in A.P. is 
 and their product is 8. Find

the numbers.

Watch Video Solution

−3,

https://dl.doubtnut.com/l/_iLCB6Memqu1Z
https://dl.doubtnut.com/l/_oPgwEEVCtwln
https://dl.doubtnut.com/l/_tSljEAbgt7tJ
https://dl.doubtnut.com/l/_6LdgGb6Dsnyz
https://dl.doubtnut.com/l/_3VBMnLpwj2jg


57. Find the four numbers in A.P. whose sum is 20 and the sum of whose

squares is 120.

Watch Video Solution

58. The sum of three terms of an A.P. is 21 and the product of the first
and

the third terms exceeds the second term by 6, find three terms.

Watch Video Solution

59. The angles of a quadrilateral are in A.P. whose common difference is

10.
Find the angles.

Watch Video Solution

60. Consider the A.P. 
 Show that twice of the

middle term of the above A.P. is equal to the
sum of its first and last term.

2, 5, 8, 11, ....... . , 302.

https://dl.doubtnut.com/l/_3VBMnLpwj2jg
https://dl.doubtnut.com/l/_jCH2RgZyhkME
https://dl.doubtnut.com/l/_2L4WNZiQfkrB
https://dl.doubtnut.com/l/_k3ucRD9JsjmT


Watch Video Solution

61. For what value of 
the 
terms of the following two A.Ps the same?

(i) 
(ii) 

Watch Video Solution

n nth

1, 7, 13, 19, . . 69, 68, 67...,

62. How many terms are there in the sequence 

Watch Video Solution

3, 6, 9, 12, .......... 111?

63. Find the middle term of the A.P. 

Watch Video Solution

6, 13, 20, ......216.

64. Show that the sequence 9,12,15,18,... is an A.P. Find its 16th
term and the

general term.

W t h Vid S l ti

https://dl.doubtnut.com/l/_k3ucRD9JsjmT
https://dl.doubtnut.com/l/_UQQl2gFev4Ep
https://dl.doubtnut.com/l/_6BYZ6G6OUdK2
https://dl.doubtnut.com/l/_vOf9QxDdK7T1
https://dl.doubtnut.com/l/_lhoOxZIXfFoq


Watch Video Solution

65. Which term of the sequence  95 ?`

Watch Video Solution

−1, 3, 7, 11, ...is

66. Write the sequence with nth terms:
 (i) 
 (ii) 

(iii) 
(iv) 

Watch Video Solution

an = 3 + 4n an = 5 + 2n

an = 6 − n an = 9 − 5n

67. Then 
term of an A.P. is 
Find the common difference.

Watch Video Solution

nth 6n + 2.

68. Show that the sequence defined by 
 is an A.P., find its

common difference.

Watch Video Solution

an = 5n − 7

https://dl.doubtnut.com/l/_lhoOxZIXfFoq
https://dl.doubtnut.com/l/_9fAyv3zBUFlO
https://dl.doubtnut.com/l/_b59fTnuEo0Gk
https://dl.doubtnut.com/l/_5lgAP3NaDXSi
https://dl.doubtnut.com/l/_7bI5apqXOi4f


Watch Video Solution

69. Show that the sequence defined by 
is not an A.P.

Watch Video Solution

an = 3n2 − 5

70. Find the 10th term from the end of the A.P. 8,10,12, ...
 126.

Watch Video Solution

71. The 19th term of an A.P. is equal to three times its 9th
 term.If its 

term is 19, find the A.P.

Watch Video Solution

9th

72. If the 5th term of an A.P. is 31 and 25th term is
140 more than the 5th

term, find the A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_7bI5apqXOi4f
https://dl.doubtnut.com/l/_yIsQkQEKmOqk
https://dl.doubtnut.com/l/_VxVrMtPJo1Kh
https://dl.doubtnut.com/l/_OSe07ct9IZ6M
https://dl.doubtnut.com/l/_TdxojiHKrWfY


73. The first and last term of an A.P. are  and 
respectively. If 
is the sum

of all the terms of the A.P. and the common difference is
 given by


, then 
(a) (b) 
(c)  (d)
none of these

Watch Video Solution

a l S

l2 − a2

k − (l + a)
k = S 2S 3S

74. Find the number of all three digit natural numbers which are divisible

by 9.

Watch Video Solution

75. If the seventh term of an AP is 1/9 and its ninth term is 1/7, find its


term.

Watch Video Solution

(63)rd

https://dl.doubtnut.com/l/_TdxojiHKrWfY
https://dl.doubtnut.com/l/_HsXTAolWIOpz
https://dl.doubtnut.com/l/_W86zZiUV4brX
https://dl.doubtnut.com/l/_vUBOxcD4oiFI


76. The 24th term of an A.P. is twice its 10th term.
 Show that its 72th term

is 4 times its 15th term.

Watch Video Solution

77. If 
are in A.P., find the value of 

Watch Video Solution

2x, x + 10, 3x + 2 x.

78. If the numbers 
 form an A.P. , then find the value of 

Watch Video Solution

a, b, c, d, e

a − 4b + 6c − 4d + e.

79. The 9th term of an A.P. is equal to 6 times its second term.
 If its 5th

term is 22, find the A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_4glmPZeexnrs
https://dl.doubtnut.com/l/_7ZtwXYyScrc2
https://dl.doubtnut.com/l/_3TELxPNdUk35
https://dl.doubtnut.com/l/_nRdps0SejaJE


80. The sum of 5th and 9th term of an A.P. is 72 and
the sum of 7th and

12th terms is 97 . Find that

Watch Video Solution

81. The sum of 4th and 8th terms of an A.P. is 24 and
the sum of 6th and

10th terms is 44. Find the A.P.

Watch Video Solution

82. Write an 
 having 
 as the first term and 
 as the comon

difference.

Watch Video Solution

A
.
P . 4 −3

https://dl.doubtnut.com/l/_nRdps0SejaJE
https://dl.doubtnut.com/l/_9HnfevUCftIJ
https://dl.doubtnut.com/l/_eKIKWiud0gzH
https://dl.doubtnut.com/l/_73earzCFggIh


83. Write the
 first three terms in each of the sequence defined by the

following:
 
(ii) 

Watch Video Solution

an = 3n + 2 an = n2 + 1

84. What is 18th
term of the sequence defined by 

Watch Video Solution

an =
n(n − 3)

n + 4

85. Show that
the sequence defined by 
 is an 
 Also, find

its common difference.

Watch Video Solution

an = 4n + 5 A
.
P .

86. Show that
the sequence defined by 
is not an 

Watch Video Solution

an = 2n2 + 1 A
.
P .

https://dl.doubtnut.com/l/_djvFpaUhzc4L
https://dl.doubtnut.com/l/_zusxwjvAUFqE
https://dl.doubtnut.com/l/_U3VNSklg7Oga
https://dl.doubtnut.com/l/_VkZcSye4xHBx
https://dl.doubtnut.com/l/_RbNrUZAOJM4Q


87. Show that a
sequence is an 
if its 
term is a
linear expression in


and in such
a case the common difference is equal to the coefficient of


.

Watch Video Solution

A
.
P . nth

n

n

88. The 
term of a
sequence is 
 . Is the
sequence an 
 If so,

find
its 
term.

Watch Video Solution

nth 3n − 2 A
.
P .

10th

89. Write an 
whose first
term is 10 and common difference is 3.

Watch Video Solution

A
.
P .

90. Write an 
whose first
term and common difference are 
and


respectively.

h id l i

A
.
P . −1. 25

−0. 25

https://dl.doubtnut.com/l/_RbNrUZAOJM4Q
https://dl.doubtnut.com/l/_5SfE1V3Aw9di
https://dl.doubtnut.com/l/_YXPQEdQ039Uz
https://dl.doubtnut.com/l/_rcwRYJ6eOYx1


Watch Video Solution

91. Number of
 students left in the school auditorium from the total

strength of 1000
students when they leave the auditorium in batches of

25. Will the sequence
form an 
?

Watch Video Solution

A
.
P .

92. The amount of money in the account every year, when Rs 10000 is

deposited at compound interest at 8 % per annum.

Watch Video Solution

93. Find the
 common difference and write the next three terms of the




Watch Video Solution

A
.
P . 3,   − 2,   − 7,   − 12,

https://dl.doubtnut.com/l/_rcwRYJ6eOYx1
https://dl.doubtnut.com/l/_eBEoVjoNctsk
https://dl.doubtnut.com/l/_4vxcAIqSebJF
https://dl.doubtnut.com/l/_BSm3iHbLji3j


94. For the
 following arithmetic progressions write the first term 
 and

the
common difference 
:
 
(ii) 

Watch Video Solution

a

d −5,   − 1,  3,  7,  . , , , ,
1

5

3

5

5

5
7
5

95. For the
 following arithmetic progressions write the first term 
 and

the
 common difference 
 :
 
 (ii) 

Watch Video Solution

a

d 0. 3,  0. 55,  0. 80,  1. 05,  .

−1. 1,   − 3. 1,   − 5. 1,   − 7. 1,  .

96. Write the
 arithmetic progression when first term 
 and common

difference 
 are as
 follows:
 
 (ii) 
 (iii) 

Watch Video Solution

a

d a = 4,   d = 3 a = − 1,   d =
1

2

a = − 1. 5,   d = − 0. 5

https://dl.doubtnut.com/l/_8awpcWXvQsso
https://dl.doubtnut.com/l/_Gmr0LM7fPZB4
https://dl.doubtnut.com/l/_G6VyPUqI7ZuF


97. The cost of
digging a well for the first metre is Rs 150 and rises by Rs

20 for each
succeeding metre. Will the sequence form an 
?

Watch Video Solution

A. P .

98. The amount
 of air present in the cylinder when a vacuum pump

removes each time 
 of the air
 remaining in the cylinder. Will the

sequence form an 
?

Watch Video Solution

1

4

A. P .

99. The general
 term of a sequence is given by 
 . Is the

sequence an 
? If so,
find its 
term and
the common difference.

Watch Video Solution

an = − 4n + 15

A
.
P . 15th

https://dl.doubtnut.com/l/_crZtuRgSZiDc
https://dl.doubtnut.com/l/_hMQNXQ2ug6dT
https://dl.doubtnut.com/l/_Ph8h5jxgE7oz


100. Find the
common difference and write the next four terms of each of

the following
 arithmetic progressions:
 
 (ii) 

Watch Video Solution

1,   − 2,   − 5,   − 8,

0,   − 3,   − 6,   − 9,

101. Find the
common difference and write the next four terms of each of

the following
 arithmetic progressions:
 
 (ii) 

Watch Video Solution

−1, , ,
1

4

3

2

−1,   − ,   − ,  .
5

6

2

3

102. Prove that
 no matter what the real numbers 
 and 
 are, the

sequence with 
 term 
 is always
 an 
 What is the
 common

difference?

Watch Video Solution

a b

nth a + nb A
.
P .

https://dl.doubtnut.com/l/_KjZfOb5RTL7m
https://dl.doubtnut.com/l/_cuE6L4FyKjUn
https://dl.doubtnut.com/l/_x3OWazlvyHgS
https://dl.doubtnut.com/l/_X5K9eHiEvIze


103. Find out
 which of the following sequences are arithmetic

progressions. For those which
 are arithmetic progressions, find out the

common difference.
 
 (ii) 
 (iii) 

Watch Video Solution

3,  6,  12,  24, 0,   − 4,   − 8,   − 12,  ..

, , , ,
1

2

1

4

1

6

1

8

104. Find out
 which of the following sequences are arithmetic

progressions. For those which
 are arithmetic progressions, find out the

common difference.
 
 (ii) 
 (iii) 


where 

Watch Video Solution

12,  2,   − 8,   − 18,  ... 3,  3,  3,  3,  ..

p,  p + 90,  p + 180,  p + 270, p = (999)999

105. Find out
 which of the following sequences are arithmetic

progressions. For those which
 are arithmetic progressions, find out the

common difference.
 
 (ii) 


(iii) 

1. 0,  1. 7,  2. 4,  3. 1, .

−225,   − 425,   − 625,   − 825,  .. 10,  10 + 25,  10 + 26,  10 + 27

https://dl.doubtnut.com/l/_X5K9eHiEvIze
https://dl.doubtnut.com/l/_k2GCU0PYAHA6
https://dl.doubtnut.com/l/_cFI4JOVZbAFr


Watch Video Solution

106. Find out
 which of the following sequences are arithmetic

progressions. For those which
 are arithmetic progressions, find out the

common difference.
 (i)

(ii) 
(iii) 

Watch Video Solution

a + b,  (a + 1) + b,  (a + 1) + (b + 1),  (a + 2) + (b + 1),  (a + 2) + (b +

12,  32,  52,  72,  ... 12,  52,  72,  73,

107. Find the
common difference of the A.P. and write the next two terms:


(ii) 
(iii) 

Watch Video Solution

51,  59,  67,  75,  . 75,  67,  59,  51,  .. 1. 8,  2. 0,  2. 2,  2. 4,  .

108. Find the
common difference of the A.P. and write the next two terms:


(ii) 

Watch Video Solution

0, , , ,
1

4

1

2

3

4
119,  136,  153,  170,

https://dl.doubtnut.com/l/_cFI4JOVZbAFr
https://dl.doubtnut.com/l/_GLbQPWMRnetA
https://dl.doubtnut.com/l/_VCDdJjtjp9Gl
https://dl.doubtnut.com/l/_CfFSUTuJ6pPc


109. Find the 
term from
the end of the 


Watch Video Solution

6th A
.
P . 17,  14,  11,  ..,   − 40

110. Find the 
 and 
 term of the
 A.P. given by 

Watch Video Solution

12th,  24th nth

9,  13,  17,  21,  25,

111. The first
term of an A.P. is 
 and the
 common difference 5. Find its 


term and
the general term.

Watch Video Solution

−7

18th

112. Determine
the 
term from
the end of the A.P. 
.

Watch Video Solution

10th 4,  9,  14,   .,  254

https://dl.doubtnut.com/l/_CfFSUTuJ6pPc
https://dl.doubtnut.com/l/_XQcBtlZl1xXG
https://dl.doubtnut.com/l/_bWR2YcP54A3d
https://dl.doubtnut.com/l/_LUZOQrQj8QkA
https://dl.doubtnut.com/l/_f2jtAH2Fz7FS


113. Which term
of the sequence 
is 124?

Watch Video Solution

4,  9,  14,  19,  .

114. Find the
middle term(s) of the A.P. 
.

Watch Video Solution

7,  13,  19,  ..,  241

115. In the
 A.P. 
 prove that
 the sum of the middle

terms is equal to the sum of first and last terms.

Watch Video Solution

1,  7,  13,  19,   .,  415

116. Which term
 of the arithmetic progression 
 will be 130

more than its 
term?

Watch Video Solution

5,  15,  25,  .

31st

https://dl.doubtnut.com/l/_f2jtAH2Fz7FS
https://dl.doubtnut.com/l/_hEi7OMfwLNwj
https://dl.doubtnut.com/l/_lzFk8lEUgmdP
https://dl.doubtnut.com/l/_k5JRj8UNhb0h
https://dl.doubtnut.com/l/_1UhGl8utmFLN


117. Which term
 of the sequence 
 is the
 first

negative term?

Watch Video Solution

20,   19 ,   18 ,   17 ,  .
1

4

1

2

3

4

118. The 
term of an
A.P. is 52 and 
term is 82.
Find the 
term

and
the general term.

Watch Video Solution

10th 16th 32nd

119. Determine
the general term of an A.P. whose 
term is 
and 

term 17.

Watch Video Solution

7th −1 16th

https://dl.doubtnut.com/l/_1UhGl8utmFLN
https://dl.doubtnut.com/l/_1EkSHhtOdHTz
https://dl.doubtnut.com/l/_8yDr01rdX5m9
https://dl.doubtnut.com/l/_gEvMgKUyHHYJ


120. If five
 times the fifth term of an A.P. is equal to 8 times its eighth

term, show
that its 
term is
zero.

Watch Video Solution

13th

121. Which term
of the A.P. 
will be 132
more than its 

term?

Watch Video Solution

3,  15,  27,  39, 54th

122. Two A.P.s
have the same common difference. The first term of one of

these is 3, and
that of the other is 8. What is the difference between their

(a) 
terms? (b) 
terms? (c) 
terms? (d) 
terms?

Watch Video Solution

2nd 4th 10th 30th

https://dl.doubtnut.com/l/_Ksd63TiO9jTX
https://dl.doubtnut.com/l/_CmA8uULPyaJ7
https://dl.doubtnut.com/l/_Jzz01ZMVLuJ9


123. A sum of Rs
 1000 is invested at 8% simple interest per annum.

Calculate the interest at
 the end of 
 years. Is
 the sequence of

interests an A.P.? Find the interest at the end of 30 years.

Watch Video Solution

1,  2,  3,  ..

124. In a flower
bed there are 23 rose plants in the first row, twenty one in

the second row,
 nineteen in the third row and so on. There are five plants

in the last row.
How many rows are there in the flower bed?

Watch Video Solution

125. Suba Rao
 started work in 1995 at an annual salary of Rs 5000 and

received a Rs 200
 raise each year. In what year did his annual salary will

reach Rs 7000?

Watch Video Solution

https://dl.doubtnut.com/l/_gCTUbtwaCu9H
https://dl.doubtnut.com/l/_Nd6DpWIMNZrH
https://dl.doubtnut.com/l/_s4bmed1F5sap
https://dl.doubtnut.com/l/_85jLMwzarvcU


126. Jasleen
saved Rs 5 in the first week of the year and then increased her

weekly
savings by Rs 1.75 each week. In what week will her weekly savings

be Rs
20.75?

Watch Video Solution

127. Find 
term of the
A.P. 

Watch Video Solution

10th 1,  4,  7,  10,  ..

128. Find: 18th term of the A.P. 

Watch Video Solution

√2,  3√2,  5√2..

129. Find 
term of the
A.P. 

Watch Video Solution

nth 13,  8,  3,   − 2,  .

https://dl.doubtnut.com/l/_85jLMwzarvcU
https://dl.doubtnut.com/l/_JpKdcPgyp3VY
https://dl.doubtnut.com/l/_LZ1PZJFMUbru
https://dl.doubtnut.com/l/_WEcIhdg0wIcG
https://dl.doubtnut.com/l/_ICBAqDCWngpJ


130. Find 
term of the
A.P. 

Watch Video Solution

10th −40,   − 15,  10,  35,

131. Find 
term of the
A.P. 

Watch Video Solution

8th 117,  104,  91,  78,

132. Find 
term of the
A.P. 

Watch Video Solution

11th 10. 0,  10. 5,  11. 0,  11. 5,  ..

133. Find 
term of the
A.P. 

Watch Video Solution

9th , , , ,  ..
3

4

5

4
7
4

9

4

134. Which term of the A.P. 3,8,13… is 248?

Watch Video Solution

https://dl.doubtnut.com/l/_ICBAqDCWngpJ
https://dl.doubtnut.com/l/_Ko04vbNeijK6
https://dl.doubtnut.com/l/_fYcY4yMEXELP
https://dl.doubtnut.com/l/_RNvcppAom3eJ
https://dl.doubtnut.com/l/_zlDWnFPAsGH7


Watch Video Solution

135. Which term
of the A.P. 
is 0?

Watch Video Solution

84,  80,  76,  ..

136. Which term of the A.P. 4,9,14… is 254?

Watch Video Solution

137. Which term
of the A.P. 
is 420?

Watch Video Solution

21,  42,  63,  84,  .

138. Which term of the AP : 121, 117, 113, . . ., is its first negative term?
[Hint :

Find n for 
]

Watch Video Solution

an < 0

https://dl.doubtnut.com/l/_zlDWnFPAsGH7
https://dl.doubtnut.com/l/_ewPu33vg0j0g
https://dl.doubtnut.com/l/_yMLbRHoSe31A
https://dl.doubtnut.com/l/_8eA0UWKRGlor
https://dl.doubtnut.com/l/_qB2RjEGwvvLf


139. Is 68 a
term of the A.P. 

Watch Video Solution

7,  10,  13,  
.
?

140. Is 302 a term of the A.P. 3,8,13,…?

Watch Video Solution

141. Is 
a term of
the A.P. 
?

Watch Video Solution

−150 11,  8,  5,  2,

142. How many
 terms are there in the A.P?
 
 (ii) 


 (iii) 
 . (iv) 


.

Watch Video Solution

7,  10,  13,  43.

−1,   − ,   − ,   − ,  .., .
5

6

2

3

1

2

10

3
7,  13,  19,  ..,  205

18,  15 ,  13,  ..,   − 47
1

2

https://dl.doubtnut.com/l/_unRx3VGKZSbt
https://dl.doubtnut.com/l/_lFRyOXoYbzis
https://dl.doubtnut.com/l/_eLGxiyhAcSU4
https://dl.doubtnut.com/l/_sTtAodTqmVW8
https://dl.doubtnut.com/l/_MlroG3rNhlWu


143. The first
term of an A.P. is 5, the common difference is 3 and the last

term is 80;
find the number of terms.

Watch Video Solution

144. The 6th and 17th terms of an A.P. are 19 and 41
respectively, find the

40th term.

Watch Video Solution

145. If 
 term of an
 A.P. is zero, prove that its 
 term is
 double the


term.

Watch Video Solution

9th 29th

19th

146. If 10 times
the 
term of an
A.P. is equal to 15 times the 
term,

show
that 
term of the
A.P. is zero.

W h Vid S l i

10th 15th

25th

https://dl.doubtnut.com/l/_MlroG3rNhlWu
https://dl.doubtnut.com/l/_6eykzoql2k9M
https://dl.doubtnut.com/l/_InrgGYRZ4Ptz
https://dl.doubtnut.com/l/_Gz9CE6AkEUfM


Watch Video Solution

147. The 
 and 
 terms of an
 A.P. are 41 and 73 respectively. Find


term.

Watch Video Solution

10th 18th

26th

148. In a
certain A.P. the 
term is
twice the 
term. Prove
that the


term is
twice the 
term.

Watch Video Solution

24th 10th

72nd 34th

149. If the  term of the  is same as the  term of the 

 find n.

Watch Video Solution

nth A. P . 9, 7, 5, .... nth

A. P . 15, 12, 9, ....

https://dl.doubtnut.com/l/_Gz9CE6AkEUfM
https://dl.doubtnut.com/l/_lJci3SwESKbF
https://dl.doubtnut.com/l/_6wVplzj8GLUY
https://dl.doubtnut.com/l/_bjf5xoR9vXJx


150. Find the 
 term from
 the end of the following arithmetic

progressions:
 
(ii) 
(iii) 

Watch Video Solution

12th

3,  5,  7,  9,  .. 201 3,  8,  13,  ..,  253 1,  4,  7,  10,  ..,  88

151. The 
 term of an
 A.P. is three times the first and the 
 term

exceeds twice the third term by 1. Find the first term and the common

difference.

Watch Video Solution

4th 7th

152. Find the
 second term and 
 term of an
 A.P. whose 
 term is 12

and the 
term is 22.

Watch Video Solution

nth 6th

8th

153. How many numbers of two digit are divisible by 3?

https://dl.doubtnut.com/l/_WOBAT1zmSgAJ
https://dl.doubtnut.com/l/_pauX2aMhQfnh
https://dl.doubtnut.com/l/_ovjXWNbsOmjW
https://dl.doubtnut.com/l/_KqQaMrfwFvjz


Watch Video Solution

154. An A.P.
 consists of 60 terms. If the first and the last terms be 7 and

125
respectively, find 32nd term.

Watch Video Solution

155. The sum of 4th and 8th terms of an A.P. is 24 and
the sum of the 6th

and 10th terms is 34. Find the first
 term and the common difference of

the A.P.

Watch Video Solution

156. The first
term of an A.P. is 5 and its 
term is 
. Find the 

term of
this A.P.

Watch Video Solution

100th −292 50th

https://dl.doubtnut.com/l/_KqQaMrfwFvjz
https://dl.doubtnut.com/l/_ilrfSPgyz3Rd
https://dl.doubtnut.com/l/_se9ZpDOszQcA
https://dl.doubtnut.com/l/_rx3ouGeyDrl0
https://dl.doubtnut.com/l/_4M7mnjEWiReP


157. Find 
 for the
 A.P.
 
 (ii) 

Watch Video Solution

a30 − a20 −9,   − 14,   − 19,   − 24,  .

a,  a + d,  a + 2d,  a + 3d,  ..

158. Write the
expression 
for the
A.P. 
Hence,

find
the common difference of the A.P. for which 
term is 5
and 

term is 79

Watch Video Solution

an − ak a,  a + d,  a + 2d,  ..

11th 13th

159. Write the
expression 
for the
A.P. 
Hence,

find
the common difference of the A.P. for which 

Watch Video Solution

an − ak a,  a + d,  a + 2d,  ..

a10 − a5 = 200

160. Write the
expression 
for the
A.P. 
Hence,

find
 the common difference of the A.P. for which 
 term is 10
 more

an − ak a,  a + d,  a + 2d,  ..

20th

https://dl.doubtnut.com/l/_4M7mnjEWiReP
https://dl.doubtnut.com/l/_yuJjlEcCX4lZ
https://dl.doubtnut.com/l/_VM7rbRT201B1
https://dl.doubtnut.com/l/_raz5bjusTm8r


than the 
term.

Watch Video Solution

18th

161. Find 
 if the
 given value of 
 is the 
 term of the
 given A.P.


 (ii) 

Watch Video Solution

n x nth

25,  50,  75,  100,  . . . . , ;  x = 1000

−1,   − 3,   − 5,   − 7,  ;   x = − 151

162. Find 
 if the
 given value of 
 is the 
 term of the
 given A.P.


(ii) 

Watch Video Solution

n x nth

(i)5 ,  11,  16 ,  22,  
.
;   x = 550

1

2

1

2
1, , , ,  ..,    x =

21

11

31

11
41
11

171
11

163. If an A.P. consists of n terms with first term a and  term  then

show that the sum of the  term from the beginning and the  term

from the end is .

nth l

mth mth

(a + l)

https://dl.doubtnut.com/l/_raz5bjusTm8r
https://dl.doubtnut.com/l/_ZMDJv9qdJhsk
https://dl.doubtnut.com/l/_8f3sCkI2xpWE
https://dl.doubtnut.com/l/_QKn0ttBEcWix


Watch Video Solution

164. Determine the AP whose third term is 16 and the 7th term exceeds

the 5th term by 12.

Watch Video Solution

165. The 
term of an
A.P. is 32 and its 
term is 62.
Find the A.P.

Watch Video Solution

7th 13th

166. Two APs have the same common difference. The
 difference between

their 
 terms is
 100, what is the difference between their 

terms?

Watch Video Solution

100th 1000th

https://dl.doubtnut.com/l/_QKn0ttBEcWix
https://dl.doubtnut.com/l/_xyBOc9xILgX6
https://dl.doubtnut.com/l/_lGlHJhVeuavO
https://dl.doubtnut.com/l/_nnPg2wEtwfKW


167. For what value of n, are the with terms of two APs: 63, 65, 67, . . .
and 3,

10, 17, . . . equal?

Watch Video Solution

168. How many multiples of 4 lie between 10 and 250?

Watch Video Solution

169. How many
three digit numbers are divisible by 7?

Watch Video Solution

170. Three
numbers are in A.P. If the sum of these numbers be 27 and the

product 648,
find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_0t7k3VOJl9Q6
https://dl.doubtnut.com/l/_Js9LnXtdAjkq
https://dl.doubtnut.com/l/_Z6BRLpqOlPT8
https://dl.doubtnut.com/l/_Ekz0SGYd5YAc
https://dl.doubtnut.com/l/_mKRi9cOq9j9e


171. Find the
 four numbers in A.P., whose sum is 50 and in which the

greatest number is 4
times the least.

Watch Video Solution

172. Find the
value of 
for which 
and 
are in

A.P.

Watch Video Solution

x (8x + 4),  (6x − 2) (2x + 7)

173. If 
and 
are in
A.P., find the value of 
.

Watch Video Solution

x + 1,  3x 4x + 2 x

174. Show that 
and 
are in A.P.

Watch Video Solution

(a − b)2,  (a2 + b2) (a + b)2

https://dl.doubtnut.com/l/_mKRi9cOq9j9e
https://dl.doubtnut.com/l/_492hgqjmR1qy
https://dl.doubtnut.com/l/_G7GZH0LsHCY4
https://dl.doubtnut.com/l/_Of12TOJTDBK7
https://dl.doubtnut.com/l/_oqrfolPZjpug


175. Find the sum of 20 terms of the AP 1, 4, 7, 10,....

Watch Video Solution

176. Find the
sum of first 
natural
numbers.

Watch Video Solution

n

177. Find the sum of all odd integers between 2 and 100 divisible by 3

Watch Video Solution

178. How many terms of the series 54,51, 48,.. be taken so that their sum is

513? Explain the double answer

Watch Video Solution

https://dl.doubtnut.com/l/_oqrfolPZjpug
https://dl.doubtnut.com/l/_myQApKHnxhiM
https://dl.doubtnut.com/l/_h13nc7EFIUsu
https://dl.doubtnut.com/l/_aUyqybj7GH7H


179. Find the number of terms in the series 
 the sum of

which is 300. Explain the answer.

Watch Video Solution

20, 19 , 18 ...
1

3

2

3

180. The sum of n, 2n, 3n terms of an A.P. are  respectively. Prove

that 

Watch Video Solution

S1, S2, S3

S3 = 3(S2 − S1)

181. The sums of 
terms of three arithmetical progressions are and


The first term of each unity and the common differences are  and 

respectively. Prove that 

Watch Video Solution

n S1, S2

S3. 1, 2 3

S1 + S3 = 2S2.

https://dl.doubtnut.com/l/_ZoScy5CfSRH0
https://dl.doubtnut.com/l/_1Exaoscq1DCo
https://dl.doubtnut.com/l/_PqKzA2mU7J4a


182. If the sum of first 
terms of an A.P. is the same as the sum of its first


terms, show that the sum of its 
terms is zero.

Watch Video Solution

m

n (m + n)

183. The ratio of the sums of m and n
terms of an A.P. is 
.Show that

the ratio of 
and 
term is 
.

Watch Video Solution

m2 : n2

mth nth (2m  −  1)  :  (2n  −  1)

184. A manufacturer of TV sets produced 600 sets in the third year and

700
 sets in the seventh year. Assuming that the production increases

uniformly by
a fixed number every year, find :
(i)         the production in
the

1st year
 (ii)              the production in
 the 10th year
 (iii)            the total

production
in first 7 years

Watch Video Solution

https://dl.doubtnut.com/l/_tneyJkMGmHhj
https://dl.doubtnut.com/l/_HX69PFvP2bgm
https://dl.doubtnut.com/l/_3fy8re2FngX3
https://dl.doubtnut.com/l/_tSHlqKky7Gd5


185. A contract on construction job specifies a
 penalty for delay of

completion beyond a certain date as follows: Rs 200 for
 the first day, Rs

250 for the second day Rs 300 for the third day, etc., the
penalty for each

succeeding day being Rs 50 more than for the preceding day.
 How much

money the contractor has to pay as penalty, if he has delayed the
work by

30 days?

Watch Video Solution

186. A sum of Rs
280 is to be used to award four prizes. If each prize after

the first is Rs
20 less than its preceding prize, find the value of each of the

prizes.

Watch Video Solution

187. In a school students thought of planting trees in
 and around the

school to reduce air pollution. It was decided that the number
 of trees,

that each section of each class will plant, will be the same as the
class, in

https://dl.doubtnut.com/l/_tSHlqKky7Gd5
https://dl.doubtnut.com/l/_rutDS3DQkFNj
https://dl.doubtnut.com/l/_2DkWAbGgJJIU


which they are studying, e.g., a section of Class I will plant 1
tree, a section

of Class II will plant 2 trees and so on till Class XII.
 There are three

sections of each class. How many trees will be planted by the
students?

Watch Video Solution

188. 200 logs are stacked in the following manner: 20 logs in the bottom

row, 19 in the next row, 18 in the row next to it and so on (see Figure). In

how may rows are the 200 logs placed and how many logs are in the top

row?

Watch Video Solution

189. The digits of a positive integer, having three digits, are in A.P. and

their sum is 15. The number obtained by reversing the digits is 594 less

than
the original number. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_2DkWAbGgJJIU
https://dl.doubtnut.com/l/_7DTqN4bIrKoI
https://dl.doubtnut.com/l/_ZIIFkY7IQFCX
https://dl.doubtnut.com/l/_uaqbbs0WRziA


190. A man repays a loan of 
 by paying 
 in the first month

and then increases the payment by 
 every month. How lon will it

take him to clear the
loan?

Watch Video Solution

Rs.3250 Rs.20

Rs.15

191. The houses of a row are numbered consecutively from 1 to 49. Show

that there is a value of x such that the sum of the numbers of the houses

preceding the house numbered x is equal to the sum of the numbers of

the houses following it. Find this value of x (Hint: )

Watch Video Solution

Sx− 1 = S49 − Sx

192. A ladder has rungs 25 cm apart, (see Figure). The
 rungs decrease

uniformly in length from 45 cm at the bottom to 25 cm at the
top. If the

top and the bottom rungs are 
 m apart, what is the length of the

wood required
for the rungs?

Watch Video Solution

2
1

2

https://dl.doubtnut.com/l/_uaqbbs0WRziA
https://dl.doubtnut.com/l/_tln7naIboX6x
https://dl.doubtnut.com/l/_uyaPCLyHufU2


193. A small terrace at a football ground comprises of 15 steps each of

which is 50 m long and built of solid concrete.
Each step has a rise of 

m and a tread of 
 m. (see Figure). Calculate the total volume of

concrete required to
build the ter

Watch Video Solution

1

4
1

2

194. A spiral is made up of successive semicircles, with centres
alternately

at A and B, starting with centre at A, of radii 0.5 cm, 1.0 cm,
1.5 cm, 2.0 cm, .

. . as shown in Figure. What is the total length of such a
spiral made up of

thirteen consec

Watch Video Solution

195. In a potato race, a bucket is placed at the starting point, which is
5 m

from the first potato, and the other potatoes are placed 3 m apart in a

straight line. There are ten potatoes in the line (see Figure).
A competitor

https://dl.doubtnut.com/l/_uyaPCLyHufU2
https://dl.doubtnut.com/l/_QjKyChn4QJGd
https://dl.doubtnut.com/l/_hSMwZxFCfalU
https://dl.doubtnut.com/l/_9Vxra4Fhbe0Z


starts from the bucket, picks up the
 nearest potato, runs back with it,

drops it in the bucket, runs back to pick
up the next potato, runs to the

bucket to drop it in, and she continues in
 the same way until all the

potatoes are in the bucket. What is the total
distance the competitor has

to run?
[Hint : To pick up the first potato and the second potato, the total

distance (in metres) rim by a competitor is 2 x 5 + 2 x (5 + 3)]

Watch Video Solution

196. Find the
 sum of the following arithmetic progressions:
 (i)

... to 10
 terms (ii) ...
 to 12 terms
 (iii) 

...
to 25 terms

Watch Video Solution

50,  46,  42, 1,  3,  5,  7,

3,  9/2,  6,  15/2,

197. Find the
 sum of the following arithmetic progressions:


 to 12
 terms (ii) 
 to 22 terms
 (iii) 


to 
terms

Watch Video Solution

(i)41,  36,  31,  . a + b,  a − b,  a − 3b,

(x − y)2,  (x2 + y2),  (x + y)2,  .., n

https://dl.doubtnut.com/l/_9Vxra4Fhbe0Z
https://dl.doubtnut.com/l/_Xtfiyi3KY2t0
https://dl.doubtnut.com/l/_dMERJOLaI5q3


Watch Video Solution

198. Find the
 sum of the following arithmetic progressions:
 (i)


 to 
 terms
 (ii) 
 to 36

terms.

Watch Video Solution

 , , ,  .
x − y

x + y

3x − 2y

x + y

5x − 3y

x + y
n −26,   − 24,   − 22,

199. Find the
sum to 
term of the
A.P. 

Watch Video Solution

n 5,  2,   − 1,   − 4,   − 7,   .,

200. Find the
 sum of 
 terms of an
 A.P. whose 
 terms is
 given by


.

Watch Video Solution

n nth

an = 5 − 6n

https://dl.doubtnut.com/l/_dMERJOLaI5q3
https://dl.doubtnut.com/l/_4fAM39DnG2Lx
https://dl.doubtnut.com/l/_o6uEUcFHjDyM
https://dl.doubtnut.com/l/_gM3kTuJRF5tm


201. If the sum of a certain number of terms of the A.P.
 25, 22, 19.... is 116.

Find the last term.

Watch Video Solution

202. How many
 terms of the sequence 
 should be
 taken so

that their sum is zero?

Watch Video Solution

18,  16,  14,  .

203. How many terms are there in the A.P. whose first and fifth terms are

-14 and 2 respectively and the sum of the terms is 40?

Watch Video Solution

204. How many
terms of the A.P. 
must be
taken so that their

sum is 636?

9,  17,  25,  .

https://dl.doubtnut.com/l/_sEURM9pK8Ixy
https://dl.doubtnut.com/l/_YT9p1zUbjUcM
https://dl.doubtnut.com/l/_Q1UHkpVKZI4B
https://dl.doubtnut.com/l/_gww1LO91wEHL


Watch Video Solution

205. How many
terms of the A.P. 63, 60, 57, .... must be taken so that their

sum is 693?

Watch Video Solution

206. The first and the last terms of an AP are 17 and
350 respectively. If the

common difference is 9, how many terms are there and
what is then sum?

Watch Video Solution

207. The third term of an A.P. is 7 and the seventh term exceeds three

times
the third term by 2. Find the first term, the common difference and

the sum
of first 20 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_gww1LO91wEHL
https://dl.doubtnut.com/l/_CRba2KvPnPVr
https://dl.doubtnut.com/l/_CrhlTv7bNIWO
https://dl.doubtnut.com/l/_8DKlITWiG36c
https://dl.doubtnut.com/l/_SVgVcUpifB3e


208. The first term of an A.P.is 2 and the last term is 50. the sum of all

these terms are 442. Find the common difference.

Watch Video Solution

209. If 12th term of an A.P. is -13 and the sum of the first four
terms is 24,

what is the sum of first 10 terms ?

Watch Video Solution

210. Find the sum of first 22 terms of an AP in which d=l and 22nd term is

149.

Watch Video Solution

211. Find the sum of all natural numbers between 1 and 100, which are

divisible by 3.

Watch Video Solution

https://dl.doubtnut.com/l/_SVgVcUpifB3e
https://dl.doubtnut.com/l/_Ty1rcUQFgzZQ
https://dl.doubtnut.com/l/_WQEtiBqehFWz
https://dl.doubtnut.com/l/_0PZFGx8K1Eyr


212. Find the
sum of first 
odd natural
numbers.

Watch Video Solution

n

213. Find the
 sum of all odd numbers between (i) 0 and 50 (ii) 100 and

200.

Watch Video Solution

214. Show that the sum of all odd integers between and 1000 which are

divisible by 3 is 83667.

Watch Video Solution

215. Find the sum of all integers between 84 and 719, which are multiples

of
5.

https://dl.doubtnut.com/l/_0PZFGx8K1Eyr
https://dl.doubtnut.com/l/_iSseYmsooX5G
https://dl.doubtnut.com/l/_m5tsMoMa8QOM
https://dl.doubtnut.com/l/_T0tIVY6dIYkR
https://dl.doubtnut.com/l/_x2by5ir0QAz5


Watch Video Solution

216. Find the sum of all integers between 0 and 500 which are divisible by

7.

Watch Video Solution

217. Find the sum of all even integers between 101 and 999.

Watch Video Solution

218. Find the sum of all integers between 100 and 550, which are divisible

by
9.

Watch Video Solution

https://dl.doubtnut.com/l/_x2by5ir0QAz5
https://dl.doubtnut.com/l/_QyxqJFk8fYhc
https://dl.doubtnut.com/l/_9LKVR1uqiyFV
https://dl.doubtnut.com/l/_yoR6DjWMB61q


219. In an A.P.,
 if the first term is 22, the common difference is 
and the

sum
to 
terms is
64, find 
.

Watch Video Solution

−4

n n

220. In an A.P.,
 if the 
and 
terms are
30 and 65 respectively, what

is the sum of first 20 terms?

Watch Video Solution

5th 12th

221. Find the
sum of the first 11 terms of the A.P.: 

Watch Video Solution

2,  6,  10,  14,  ..

222. Find the
sum of the first 13 terms of the A.P: 

Watch Video Solution

−6,  0,  6,  12, ......

https://dl.doubtnut.com/l/_381SPDQsoJUn
https://dl.doubtnut.com/l/_m6IQqtHJ5M2J
https://dl.doubtnut.com/l/_4rdif30VKSkP
https://dl.doubtnut.com/l/_jwLjsO0Q1tFp
https://dl.doubtnut.com/l/_HsHQCbNH5uSh


223. Find the
sum of the first 51 terms of the A.P.: whose second term is 2

and fourth term
is 8.

Watch Video Solution

224. Find the
sum of the first 15 multiples of 8.

Watch Video Solution

225. Find the
sum of the first 40 positive integers divisible by (a) 3   (b) 5 

(c) 6.

Watch Video Solution

226. Find the
sum of all 3 – digit natural numbers, which are divisible by

13.

Watch Video Solution

https://dl.doubtnut.com/l/_HsHQCbNH5uSh
https://dl.doubtnut.com/l/_rKgCbokp6CUD
https://dl.doubtnut.com/l/_ODfaL1g33XSk
https://dl.doubtnut.com/l/_6GzQhITOAvHB


227. Find the
sum of all 3 – digit natural numbers, which are multiples of

11.

Watch Video Solution

228. Find the
sum:
 
(ii) 

Watch Video Solution

2 + 4 + 6 +  .... + 200 3 + 11 + 19 +  .... . + 803

(iii)( − 5) + ( − 8) + ( − 11) +  ...... + ( − 230)

229. Find the
 sum:





Watch Video Solution

(i)1 + 3 + 5 + 7 +  ....   +  199

(ii)7 + 10 + 14 +  .... + 84
1

2
(iii)34 + 32 + 30 +  ....   + 10

230. Find the
 sum:
 
 (ii) 25 + 28 + 31 +  .  + 100

18 + 15 + 13 +  
.

+  ( − 49 )
1

2

1

2

https://dl.doubtnut.com/l/_6GzQhITOAvHB
https://dl.doubtnut.com/l/_eqgqCbUVLPrF
https://dl.doubtnut.com/l/_7ES0yBARAIJZ
https://dl.doubtnut.com/l/_XFLZgblVKW0k
https://dl.doubtnut.com/l/_lpiK3wzNr5js


Watch Video Solution

231. Find the
sum of the first 15 terms of each of the following sequences

having 
term as
 
(ii) 

Watch Video Solution

nth (i)an = 3 + 4n bn = 5 + 2n

232. Find the
sum of the first 15 terms of each of the following sequences

having 
term as
 


Watch Video Solution

nth (i)xn = 6 − n (ii)yn = 9 − 5n

233. Find the
 sum of firsts 20 terms of the sequence whose 
 term is


.

Watch Video Solution

nth

an = An + B

https://dl.doubtnut.com/l/_lpiK3wzNr5js
https://dl.doubtnut.com/l/_j1OF0M211a47
https://dl.doubtnut.com/l/_XHuRPb7UjfV1
https://dl.doubtnut.com/l/_jHaddDJfBnPK


234. Find the
sum of the first 25 terms of an A.P. whose 
term is
given

by 
.

Watch Video Solution

nth

an = 2 − 3n

235. Find the
sum of the first 25 terms of an A.P. whose 
term is
given

by 
.

Watch Video Solution

nth

an = 7 − 3n

236. Find the sum of first 51 terms of an AP whose second and third terms

are 14 and 18 respectively.

Watch Video Solution

237. If the sum
of 7 terms of an A.P. is 49 and that of 17 terms is 289, find

the sum of 
terms.n

https://dl.doubtnut.com/l/_8Q4p0OiG7ZxB
https://dl.doubtnut.com/l/_CXHX8UHB4qIW
https://dl.doubtnut.com/l/_baxFR7HY6U5O
https://dl.doubtnut.com/l/_XUIqAPoItGLR


Watch Video Solution

238. In an A.P. first term is 5, last term is 45 and sum = 400 . Find the no. of

terms and common difference of A.P.

Watch Video Solution

239. In an A.P.,
the sum of first 
terms is 
. Find its 
term.

Watch Video Solution

n + n
3n2

2

13

2
25th

240. Let there
be an A.P. with first term 
, common
difference 
. If 

denotes its
 
 term and 
 the sum of
 first 
 terms, find
 
 and 
 , if 


and 

Watch Video Solution

' a' ' d' an

nth Sn n n Sn

a = 5,   d = 3 an = 50

https://dl.doubtnut.com/l/_XUIqAPoItGLR
https://dl.doubtnut.com/l/_8o9J1lOM6xk9
https://dl.doubtnut.com/l/_egAFZoZyZ6Y6
https://dl.doubtnut.com/l/_AMECbjuQPLGR


241. Let there
be an A.P. with first term 
, common
difference 
. If 

denotes its
 
 term and 
 the sum of
 first 
 terms, find
 
 and 
 , if 


and 
.

Watch Video Solution

' a' ' d' an

nth Sn n n a

an = 4,   d = 2 Sn = − 14

242. Let there
be an A.P. with first term 
, common
difference 
. If 

denotes its
 
 term and 
 the sum of
 first 
 terms, find
 
 if 


and 
.

Watch Video Solution

' a' ' d' an

nth Sn n d,

a = 3,   n = 8 Sn = 192

243. Let there
be an A.P. with first term 
, common
difference 
. If 

denotes its
 
 term and 
 the sum of
 first 
 terms, find
 
 , if 


and 
.

Watch Video Solution

' a' ' d' an

nth Sn n a

an = 28,   Sn = 144 n = 9

https://dl.doubtnut.com/l/_3TYIGRT5KELV
https://dl.doubtnut.com/l/_mQxzTgUYCwg4
https://dl.doubtnut.com/l/_ppi8jVCI8agq
https://dl.doubtnut.com/l/_vXmXcPo5S9gP


244. Let there
be an A.P. with first term 
, common
difference 
. If 

denotes its
 
 term and 
 the sum of
 first 
 terms, find
 
 and 
 , if 


and 
.

Watch Video Solution

' a' ' d' an

nth Sn n n d

a = 8,   an = 62 Sn = 210

245. Let there
be an A.P. with first term 
, common
difference 
. If 

denotes its
 
 term and 
 the sum of
 first 
 terms, find
 
 and 
 , if 


and 
.

Watch Video Solution

' a' ' d' an

nth Sn n n an

a = 2,   d = 8 Sn = 90

246. A man saved Rs. 16500 in ten years. In each year after the first he

saved
 Rs. 100 more than be did in the receding year. How many did he

save in the
first year?

Watch Video Solution

https://dl.doubtnut.com/l/_vXmXcPo5S9gP
https://dl.doubtnut.com/l/_OwG56edICb9e
https://dl.doubtnut.com/l/_GaSr63J63vZN


247. A man saves Rs. 32 during the first year, Rs. 36 in the second year and

in this way he increases his savings by Rs. 4 every year. Find in what time

his saving will be Rs. 200.

Watch Video Solution

248. A man arranges to pay a debt of Rs 3600 in 40 monthly installments

which are in AP When 30 installments are paid he dies leaving one third

of the debt unpaid Find the value of the first installment

Watch Video Solution

249. There are 25 trees at equal distances of 5 metres in a line with a well,

the distance of the well from the nearest tree being 10 metres. A

gardener
 waters all the trees separately starting from the well and he

returns to the
 well after watering each tree to get water for the next.

Find the total
 distance the gardener will cover in order to water all the

trees.

https://dl.doubtnut.com/l/_faxxNQyOfvNU
https://dl.doubtnut.com/l/_5W7wUlJ4jRH3
https://dl.doubtnut.com/l/_tbCH84FFGOfX


Watch Video Solution

250. A man is employed to count Rs. 10710. He counts at the rate of Rs.

180
per minute for half an hour. After this he counts at the rate of Rs. 3

less
every minute than the preceding minute. Find the time taken by him

to count
the entire amount.

Watch Video Solution

251. A piece of equipment cost a certain factory Rs. 600,000. If it

depreciates in value, 15% the first, 13.5% the next year, 12% the third year,

and so on . What will be its value at the end of 10 years, all percentages

applying to the original cost?

Watch Video Solution

252. A sum of Rs 700 is to be used to give seven cash
prizes to students

of a school for their overall academic performance. If
each prize is Rs 20

https://dl.doubtnut.com/l/_tbCH84FFGOfX
https://dl.doubtnut.com/l/_fDOcPQHxi7a7
https://dl.doubtnut.com/l/_fdYeLAatHRFx
https://dl.doubtnut.com/l/_lCbErbBcWDKv


less than its preceding prize, find the value of each of
the prizes.

Watch Video Solution

253. In , the first term is 8,  term is 33 and sum to first n terms is

123. Find n and d, the common diffirence.

Watch Video Solution

A. P . nth

254. In an A.P.,
 the first term is 22, 
term is 
and the sum
to first 

terms is
66. Find 
and 
, the
common difference.

Watch Video Solution

nth −11 n

n d

255. If the sum of the first n terms of an AP is 
 , what is the first

term (that is 
)? What is the sum of first two terms? What is
the second

term? Similarly, find the 3rd, the 10th and the nth terms.

Watch Video Solution

4n − n2

S1

https://dl.doubtnut.com/l/_lCbErbBcWDKv
https://dl.doubtnut.com/l/_jLikLDaNy90U
https://dl.doubtnut.com/l/_MKz9AxWS5Z8N
https://dl.doubtnut.com/l/_nnDdRgCtQz3q


256. The first and the last terms of an AP are 17 and
350 respectively. If the

common difference is 9, how many terms are there and
what is then sum?

Watch Video Solution

257. In an A.P., the first term is 2, the last term is 29 and sum of the terms

is
155. Find the common difference of the A.P.

Watch Video Solution

258. In an AP, the sum of first ten terms is -150 and the sum of its next ten

terms is -550 Find the AP

Watch Video Solution

https://dl.doubtnut.com/l/_nnDdRgCtQz3q
https://dl.doubtnut.com/l/_0qUxEbpNBSrY
https://dl.doubtnut.com/l/_k7F20I3HoHik
https://dl.doubtnut.com/l/_rmBUp2bwUwBh


259. Sum of the first 14 terms of an AP is 1505 and its first term is 10. Find

is 25th term.

Watch Video Solution

260. The sum of first n terms of an A.P. is  If its mth term is 168,

(i) Find the value of m (ii) Find the 20th term of this AP

Watch Video Solution

5n2 + 3n

261. The sum of
first 
terms of an
A.P. is 
. If its 
term is 
,

find the
value of 
. Also,
find the 
term of
this A.P.

Watch Video Solution

q 63q − 3q2 pth −60

p 11th

262. The sum of
first 
terms of an
A.P. is 
. If its 
term is
107,

find the value of 
. Also,
find the 
term of
this A.P.

m 4m2 − m nth

n 21st

https://dl.doubtnut.com/l/_cCirvEJNOxLd
https://dl.doubtnut.com/l/_oAgfmjLjfP6h
https://dl.doubtnut.com/l/_TA1XDnF1D0cx
https://dl.doubtnut.com/l/_BbDX1UprNmWK


Watch Video Solution

263. In the  nth term of an  is given by  Find

the sum of first  terms of 

Watch Video Solution

A. P . A. P . ( − 4n + 15).

20 A. P .

264. Find the
 number of terms of the A.P. 
 . If 1 is

added to each term of this A.P., then find the sum of all terms of the A.P.

thus obtained.

Watch Video Solution

−12,   − 9,   − 6,   .,  12

265. The sum of
first 
terms of an
A.P. is 
. Find the 
term of

this A.P.

Watch Video Solution

n 3n2 + 4n 25th

https://dl.doubtnut.com/l/_BbDX1UprNmWK
https://dl.doubtnut.com/l/_bK9hZuJltykk
https://dl.doubtnut.com/l/_xsJEYDgHsgZM
https://dl.doubtnut.com/l/_YQCRP5acskvJ
https://dl.doubtnut.com/l/_WDYCsyN4gCJW


266. The sum of first seven terms of an A.P is 182. If its  term and 

term are in the ratio 1:5 then Find the A.P

Watch Video Solution

4th 17th

267. The sum of
the first 
terms of an
A.P. is 
. Find the 
term

of
this A.P.

Watch Video Solution

n 3n2 + 6n nth

268. The sum of the first  terms of an  is  and the sum of its next 

terms is  Find the  term of this 

Watch Video Solution

7 AP 63 7

161. 28th AP .

269. If 
 denotes the
 sum of the first 
 terms of an
 A.P., prove that 


.

Watch Video Solution

Sn n

S30 = 3(S20 − S10)

https://dl.doubtnut.com/l/_WDYCsyN4gCJW
https://dl.doubtnut.com/l/_JVBG89Z4cI7Q
https://dl.doubtnut.com/l/_SebKE6P0pj72
https://dl.doubtnut.com/l/_YKqpSHvChxfB


270. The sum of
first 
terms of an
A.P. is 
 . Find the 
term of

this A.P.

Watch Video Solution

n 5n − n2 nth

271. The sum of
the first 
terms of an
A.P. is 
. Find the 
term

of
this A.P.

Watch Video Solution

n 4n2 + 2n nth

272. If the 
 term of an
A.P. is 21 and the sum of its first ten terms is

120, find its 
term.

Watch Video Solution

10th

nth

https://dl.doubtnut.com/l/_YKqpSHvChxfB
https://dl.doubtnut.com/l/_MrpNvN23pomy
https://dl.doubtnut.com/l/_MEWgFOU8CLwp
https://dl.doubtnut.com/l/_j6X1J7xLqew5


273. The first
and the last terms of an AP are 7 and 49 respectively. If sum

of all its
terms is 420, find its common difference.

Watch Video Solution

274. If 
 denotes the
 sum of first 
 terms of an
 A.P., prove that 


.

Watch Video Solution

Sn n

S12 = 3(S8 − S4)

275. If the sum of the first n terms of an A.P. is , then find its

nth term. Hence write its 20th term.

Watch Video Solution

(3n2 + 7n)
1

2

276. The sum of
first 9
terms of an
A.P. is 162. The ratio of its 6th term to

its 13th term
is 
. Find the
first and 
term of the
A.P.1: 2 15th

https://dl.doubtnut.com/l/_4zS15KvT5Odj
https://dl.doubtnut.com/l/_5XW6RYceOUpF
https://dl.doubtnut.com/l/_1CNlrtuQEQri
https://dl.doubtnut.com/l/_cOmhIMwBDeBD


Watch Video Solution

277. Define an
arithmetic progression.

Watch Video Solution

278. Write the
 common difference of an A.P. whose 
 term is


.

Watch Video Solution

nth

an = 3n + 7

279. Which term
 of the sequence 
 is the
 first negative

term?

Watch Video Solution

114,  109,  104,

280. Write the
value of 
for the
A.P. 

W h Vid S l i

a30 − a10 4,  9,  14,  19,  .

https://dl.doubtnut.com/l/_cOmhIMwBDeBD
https://dl.doubtnut.com/l/_R7XvHSEoDwT1
https://dl.doubtnut.com/l/_novxIgeX0K5w
https://dl.doubtnut.com/l/_6cUeQd5b2RfQ
https://dl.doubtnut.com/l/_6iVFkhkufpRq


Watch Video Solution

281. Write 
term from
the end of the A.P. 
.

Watch Video Solution

5th 3,  5,  7,  9,  ..,  201

282. Write the
value of 
for which 
and 
are in A.P.

Watch Video Solution

x 2x,  x + 10 3x + 2

283. Write the 
term of an
A.P. the sum of whose 
terms is 
.

Watch Video Solution

nth n Sn

284. Write the
sum of first 
odd natural
numbers.

Watch Video Solution

n

https://dl.doubtnut.com/l/_6iVFkhkufpRq
https://dl.doubtnut.com/l/_DVXwnCfRCCrd
https://dl.doubtnut.com/l/_MgZBL8QMpLEy
https://dl.doubtnut.com/l/_upla6e1CYbEx
https://dl.doubtnut.com/l/_j2Z1nk6IQcsw
https://dl.doubtnut.com/l/_nfimAnpVGgQT


285. Write the
sum of first 
even
natural numbers.

Watch Video Solution

n

286. If the sum
of 
terms of an
A.P. is 
 . Write its
common

difference.

Watch Video Solution

n Sn = 3n2 + 5n

287. Write the
expression for the common difference of an A.P. whose first

term is 
and 
term is 
.

Watch Video Solution

a nth b

288. First the term of an A.P is p and its common difference is q. Find its

 term

Watch Video Solution

10th

https://dl.doubtnut.com/l/_nfimAnpVGgQT
https://dl.doubtnut.com/l/_QT1LytXUwt8r
https://dl.doubtnut.com/l/_bfbXenGxQkeo
https://dl.doubtnut.com/l/_sFRBQvabhrfi


289. For what
 value of 
 are 
 are three
 consecutive

terms of an A.P.?

Watch Video Solution

p 2p + 1,  13,  5p − 3

290. If 
are three
consecutive terms of an A.P., then find the value

of 
.

Watch Video Solution

,  a,  2
4
5

a

291. If the sum of first p terms of an AP is  find the common

difference

Watch Video Solution

ap2 + bp

292. If 7th
 and 13th terms of an A.P. be 34 and 64 respectively, then its

18th
term is 

https://dl.doubtnut.com/l/_xJK8Iv9NcDbA
https://dl.doubtnut.com/l/_KKV5ZkIan4Fc
https://dl.doubtnut.com/l/_GoqPcFUHsqTD
https://dl.doubtnut.com/l/_FGq7BIYigMTW


(a) 87        (b) 88        (c) 89          (d) 90

Watch Video Solution

293. If the sum
of 
terms of an
A.P. is 
and the sum
of 
terms is 
, then

the
sum of 
terms will
be



(a) 0

(b) 



(c) 



(d) 

Watch Video Solution

P q q p

p + q

p − q

p + q

(p + q)

294. The sum of n terms of an AP is and its common difference is

6,then find its first term.

Watch Video Solution

3n2 + n

https://dl.doubtnut.com/l/_FGq7BIYigMTW
https://dl.doubtnut.com/l/_PgEC6tYziaed
https://dl.doubtnut.com/l/_bpEQkre3Hpqn


295. The first
and last terms of an A.P. are 1 and 11. If the sum of its terms

is 36, then
the number of terms will be 

(a) 5          (b) 6          (c) 7          (d) 8

Watch Video Solution

296. If the sum of 
terms of an A.P., is 
then which of its terms is

164? 

a. 
b. 
c. 
d. none of these

Watch Video Solution

n 3n2 + 5n

26th 27th 28th

297. If the sum
of 
terms of an
A.P. is 
, then its 
term is


(a) 


(b) 


(c) 


(d) 

Watch Video Solution

n 2n2 + 5n nth

4n − 3

3n − 4

4n + 3

3n + 4

https://dl.doubtnut.com/l/_VU0CyAiUOiBy
https://dl.doubtnut.com/l/_WOxqxf8WL8Wn
https://dl.doubtnut.com/l/_AAxZLRB5CabG


Watch Video Solution

298. If the sum
of three consecutive terms of an increasing A.P. is 51 and

the product of the
 first and third of these terms is 273, then the third

term is

(a) 13    

(b) 9     

(c) 21     

(d) 17

Watch Video Solution

299. If four
numbers in A.P. are such that their sum is 50 and the greatest

number is 4
times the least, then the numbers are
(a) 5, 10,
 15, 20                    

(b) 4, 10, 16, 22
(c) 3, 7,
11, 15             (d) none of these

Watch Video Solution

https://dl.doubtnut.com/l/_AAxZLRB5CabG
https://dl.doubtnut.com/l/_boOjiyRaseVi
https://dl.doubtnut.com/l/_NLsRlDrhw5zt


300. Let  denote the sum of n terms of an AP whose first term is a. If

common difference d is given by  , then k is :

Watch Video Solution

Sn

d = Sn − kSn− 1 + Sn− 2

301. If the
 first, second and last term of an A.P. are 
 and 

respectively,
 its sum is
 
 (b) 
 (c) 
 (d) none of

these

Watch Video Solution

a,  b 2a

ab

2(b − a)

ab

b − a

3ab

2(b − a)

302. If  is the sum of an AP of 'n' odd number of terms and  be the

sum of the terms of series in odd places of the same AP then  =

Watch Video Solution

S1 S2

S1

S2

https://dl.doubtnut.com/l/_pd8BNE1WSng6
https://dl.doubtnut.com/l/_z7mDgSxnuWyV
https://dl.doubtnut.com/l/_NW7ukhOrcS4i


303. If in an
A.P., 
and 
, where 
denotes the
sum of 


terms of
the A.P., then 
is equal to
 
(b) 
(c) 
(d) 

Watch Video Solution

Sn = n2p Sm = m2p Sr

r Sp p31

2
mn p p3 (m + n)p2

304. Let  denotes the sum of the first of  terms of A.P. and  .

then the ratio is equal to

Watch Video Solution

Sn n S2n = 3Sn

S3n : Sn

305. in an  and  denotes the sum of the first 

terms. Then 

Watch Video Solution

AP , Sp = q, Sq = p Sr r

Sp+q =

306. If 
 denotes the
 sum of the first 
 terms of an
 A.P. Then, 


is
 
(b) 
(c) 3 (d) none of these

Sr r

S3n  : (S2n − Sn) n 3n

https://dl.doubtnut.com/l/_YaTslcy1Z11Y
https://dl.doubtnut.com/l/_qW0MQfVj47Ye
https://dl.doubtnut.com/l/_4gmQFdPUQlXu
https://dl.doubtnut.com/l/_z9S4v2ZIQnp7


Watch Video Solution

307. If the
first term of an A.P. is 2 and common difference is 4, then the

sum of its 40
terms is
(a)
3200       (b) 1600        (c) 200         (d) 2800

Watch Video Solution

308. The number
of terms of the A.P. 
 to be taken
so that

the sum is 406 is
(a) 5 (b) 10 (c) 12 (d) 14

Watch Video Solution

3,  7,  11,  15,  ..

309. Sum of 
 terms of
 the series 
 is



(b) 
(c) 
(d) 

Watch Video Solution

n √2 + √8 + √18 + √32 +  ..

n(n + 1)

2
2n(n + 1)

n(n + 1)

√2
1

https://dl.doubtnut.com/l/_z9S4v2ZIQnp7
https://dl.doubtnut.com/l/_k86hOxdEA93r
https://dl.doubtnut.com/l/_VoyQNu6qlqXh
https://dl.doubtnut.com/l/_g0ypbCgvaAJK


310. The 
term of an
A.P. is 449 and 449th term is 9. The term which is

equal to zero
is
 
(b) 
(c) 
(d) none of
these

Watch Video Solution

9th

501th 502th 508th

311. The 
 term of an
 A.P., the sum of whose 
 terms is 
 , is



(b) 
(c) 
(d) 

Watch Video Solution

nth n Sn

(a)Sn + Sn− 1 Sn − Sn− 1 Sn + Sn+ 1 Sn − Sn+ 1

312. The common
difference of an A.P., the sum of whose 
terms is 
 , is



 (b) 
 (c) 
 (d) 

Watch Video Solution

n Sn

(a)Sn − 2Sn− 1 + Sn− 2 Sn − 2Sn− 1 − Sn− 2 Sn − Sn− 2

Sn − Sn− 1

https://dl.doubtnut.com/l/_qJm0cyzYgbCn
https://dl.doubtnut.com/l/_qObFaPbjXJ1v
https://dl.doubtnut.com/l/_K87dKfaiDvA2


313. If the sums
of 
terms of
two arithmetic progressions are in the ratio


 , then
 their 
 terms are
 in the ratio
 
 (b) 
 (c) 


(d) 

Watch Video Solution

n

3n + 5

5n + 7
nth

3n − 1

5n − 1

3n + 1

5n + 1
5n + 1

3n + 1

5n − 1

3n − 1

314. If 
 denote the
 sum of 
 terms of an
 A.P. with first term 
 and

common
difference 
such that 
is
independent of 
 , then
(a) 

(b) 
(c) 
(d) 

Watch Video Solution

Sn n a

d
Sx

Skx

x d = a

d = 2a a = 2d d = − a

315. If the
 first term of an A.P. is 
 and 
 term is 
 , then its
 common

difference is

A. 

B. 

C. 

a nth b

b − a

n + 1

b − a

n − 1

b − a

n

https://dl.doubtnut.com/l/_0sRZpaphsmYX
https://dl.doubtnut.com/l/_rK0Rjynn1iwC
https://dl.doubtnut.com/l/_hxJn22w0WGiG


D. 

Answer: B

Watch Video Solution

b + a

n − 1

316. The sum of
first 
odd natural
numbers is
 
(b) 
(c) 
 (d)

Watch Video Solution

n 2n − 1 2n + 1 n2

n2 − 1

317. Two A.P.’s
have the same common difference. The first term of one of

these is 8 and that
 of the other is 3. The difference between their 30th

terms is
(a) 11       (b) 3      (c) 8      (d) 5

Watch Video Solution

318. If 
are in
A.P., the 
(a) 19 (b) 7 (c) 11 (d) 1518,  a,  b,   − 3 a + b =

https://dl.doubtnut.com/l/_hxJn22w0WGiG
https://dl.doubtnut.com/l/_eKzYrTu0J6Pd
https://dl.doubtnut.com/l/_odOzgjIxjrEU
https://dl.doubtnut.com/l/_vlyWZ094KArV


Watch Video Solution

319. If 
, then 
(a) 8 (b) 7 (c)

10 (d) 11

Watch Video Solution

=
5 + 9 + 13 +  

..
−−→  n terms

7 + 9 + 11 +  
..

−−→  (n + 1)terms

17
16

n =

320. The sum of 
 terms of an
 A.P. is 
 , then 164
 is its
 (a) 24th

term (b) 27th term (c) 26th term (d) 25th term

Watch Video Solution

n 3n2 + 5n

321. If the 
term of an
A.P. is 
 , then the
sum of first 
 terms of

the A.P. is
 
(b) 
(c) 
(d) 

Watch Video Solution

nth 2n + 1 n

n(n − 2) n(n + 2) n(n + 1) n(n − 1)

https://dl.doubtnut.com/l/_vlyWZ094KArV
https://dl.doubtnut.com/l/_Xn3fU5Dm62mU
https://dl.doubtnut.com/l/_gyiWJRqIm4ng
https://dl.doubtnut.com/l/_nugydCggqE1z


322. If 
 and 
 term of an
 A.P. are in the ratio 
 , then its 

and 
terms are
in the ratio
 
(b) 
(c) 
(d) 

Watch Video Solution

18th 11th 3  : 2 21st

5th 3  : 2 3  : 1 1  : 3 2  : 3

323. The sum of
first 20 odd natural numbers is (a) 100             (b) 210         (c)

400       (d) 420

Watch Video Solution

324. The common
difference of the A.P. is 
is 


(a)-1 1 q 2q`

Watch Video Solution

, , ,  .
1

2q

1 − 2q

2q

1 − 4q

2q

(b) (c) (d)

325. The common
difference of the A.P. 
is 


(a) 
(b) 
(c) 
(d) 

, , ,  .
1

3

1 − 3b

3

1 − 6b

3
1

3
−

1

3
−b b

https://dl.doubtnut.com/l/_qW6GSyZTHm3E
https://dl.doubtnut.com/l/_KONGDtoRRUei
https://dl.doubtnut.com/l/_cojihSVD7XvE
https://dl.doubtnut.com/l/_KdiomOxJU1Vb


Watch Video Solution

326. The common difference of the A.P.  is 


(a) 
(b) 
(c) 
(d) 

Watch Video Solution

, , , ...
1

2b
1 − 6b

2b
1 − 12b

2b

2b −2b 3 −3

327. If 
 and 
 are three
 consecutive terms of an A.P., the

value of 
is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k,  2k − 1 2k + 1

k

−2

3

−3

6

https://dl.doubtnut.com/l/_KdiomOxJU1Vb
https://dl.doubtnut.com/l/_KivYmbnKyCOk
https://dl.doubtnut.com/l/_x3M5dRLQWKeB


328. The next term of the AP ,… is

Watch Video Solution

√7, √28, √63

329. The first
 three terms of an A.P. respectively are 
 and 


. Then,  


equals 

(a) 
(b) 
(c) 
(d) 

Watch Video Solution

3y − 1,  3y + 5

5y + 1 y

−3 4 5 2

https://dl.doubtnut.com/l/_7nB1L9cZZJLg
https://dl.doubtnut.com/l/_45KKtakfn0aT

